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QUESTION 1

An administrator needs to use performance information from Windows virtual machines to better understand their effect
on the vSphere 5.x hosts on which they run. What must the administrator do to collect this information?

A. Install VMware Tools with the PERFMON counters enabled in the Advanced option of the installer.
B. Install VMware Tools. Add counters in the PERFMON utility.

C. Install VMware Tools. Edit the VMware Tools settings to enable the VM-specific counters.

D. Install VMware Tools. Install the PERFMON plug-in for VMware Tools.

Correct Answer: B

QUESTION 2

A vSphere administrator finds a HA/DRS cluster status has turned RED indicating a degraded state.

What is the likely reason for the indication?

A. The cluster enabled for HA has lost resources and is unable to fulfill its failover requirements.

B. The cluster does not have enough resources to satisfy the reservations of all resource pools and virtual machines.
C. Incompatible CPU generations between hosts are preventing DRS migrations.

D. The cluster is currently electing a Master host and is unavailable to perform HA functions.

Correct Answer: A

QUESTION 3

-- Exhibit -
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-- Exhibit -Which field should an administrator add to a Virtual SAN Disk Group under the Device Backing settings to
monitor the health of disks in the Disk Group?

A. Issue

B. Operational Status
C. Capacity

D. Transport Type

Correct Answer: A
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QUESTION 4

A vSphere administrator is unable to vMotion a virtual machine between two hosts. An error message indicates that the
USB device is not accessible on the target host. What is causing this issue?

A. The USB device was not enabled for vMotion when it was added to the virtual machine.
B. ESXi does not support vMotion with a USB device attached to the virtual machine.

C. The VMkernel port for vMotion is not enabled for USB traffic.

D. The virtual machine has the wrong USB controller installed.

Correct Answer: A

QUESTION 5

An administrator needs to unmount a datastore that is also used for HA storage heartbeats.

What is the least disruptive method for an administrator to perform this activity on a slave HA host?

A. On the Datastore Heartbeating tab, unmount the datastore normally and confirm a new datastore has been selected.
B. On the Datastore Heartbeating tab, specify an alternate datastore, then unmount the datastore normally.

C. Disable HA datastore heartbeats, then unmount the datastore.

D. Reduce the number of heartbeat datastores, then remove the datastore from the heartbeat list.

Correct Answer: B
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